(your trusted a consulta	PROJECT: NORTH MAIN STREET RECONS VILLAGE OF ONE of the control o	NORTH BALTIMORE PROJECT #: 190961		B & J Concrete & Construction			Excavating & struction	Vernon Nagel Inc.		ER Zeiler Excavating	
Item No.	Ref No.	Item	Est. Qtys.	Units of Measure	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost
		ROADWAY										
1	201	CLEARING AND GRUBBING	1	LS	\$500.00	\$500.00	\$2,600.00	\$2,600.00	\$500.00	\$500.00	\$3,500.00	\$3,500.00
2	202	PAVEMENT REMOVED, AS PER PLAN	3,413	SY	\$11.00	\$37,543.00	\$11.50	\$39,249.50	\$4.00	\$13,652.00	\$10.00	\$34,130.00
3	202	WALK REMOVED	7,501	SF	\$0.90	\$6,750.90	\$0.80	\$6,000.80	\$2.00	\$15,002.00	\$1.00	\$7,501.00
4	202	CURB REMOVED	967	FT	\$1.00	\$967.00	\$3.50	\$3,384.50	\$2.00	\$1,934.00	\$6.00	\$5,802.00
5	202	CURB AND GUTTER REMOVED	98	FT	\$4.00	\$392.00	\$5.00	\$490.00	\$2.00	\$196.00	\$6.00	\$588.00
6	202	PIPE REMOVED, 24" AND UNDER	200	FT	\$15.00	\$3,000.00	\$12.50	\$2,500.00	\$6.00	\$1,200.00	\$20.00	\$4,000.00
7	202	MANHOLE REMOVED	4	EA	\$350.00	\$1,400.00	\$375.00	\$1,500.00	\$500.00	\$2,000.00	\$550.00	\$2,200.00
8	202	CATCH BASIN REMOVED	9	EA	\$250.00	\$2,250.00	\$235.00	\$2,115.00	\$250.00	\$2,250.00	\$550.00	\$4,950.00
9	203	EXCAVATION	1	LS	\$1,000.00	\$1,000.00	\$1,040.00	\$1,040.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00
10	203	EMBANKMENT	1	LS	\$2,250.00	\$2,250.00	\$450.00	\$450.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00
11	204	SUBGRADE COMPACTION	3,594	SY	\$0.50	\$1,797.00	\$1.00	\$3,594.00	\$0.25	\$898.50	\$1.50	\$5,391.00
12	204	EXCAVATION OF SUBGRADE	1,128	CY	\$12.00	\$13,536.00	\$16.00	\$18,048.00	\$16.00	\$18,048.00	\$20.00	\$22,560.00
13	204	PROOF ROLLING	2	HR	\$100.00	\$200.00	\$175.00	\$350.00	\$150.00	\$300.00	\$150.00	\$300.00
14	204	GEOTEXTILE FABRIC	3,210	SY	\$1.25	\$4,012.50	\$1.50	\$4,815.00	\$0.90	\$2,889.00	\$1.50	\$4,815.00
15	608	4" CONCRETE WALK	7,812	SF	\$4.50	\$35,154.00	\$6.00	\$46,872.00	\$5.50	\$42,966.00	\$4.50	\$35,154.00
16	608	CURB RAMP	436	SF	\$10.00	\$4,360.00	\$11.00	\$4,796.00	\$10.00	\$4,360.00	\$13.00	\$5,668.00
17	861	GEOGRID FOR SUBGRADE STABILIAZATION	3,210	SY	\$1.75	\$5,617.50	\$2.50	\$8,025.00	\$1.75	\$5,617.50	\$2.00	\$6,420.00
	ROADWAY SUBTOTAL					\$120,729.90		\$145,829.80		\$139,313.00		\$157,979.00
		EROSION CONTROL										
18	653	TOPSOIL FURNISHED AND PLACED	18	CY	\$50.00	\$900.00	\$50.00	\$900.00	\$75.00	\$1,350.00	\$65.00	\$1,170.00
19	659	SEEDING AND MULCHING	1	LS	\$250.00	\$250.00	\$2,300.00	\$2,300.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00
20	832	EROSION CONTROL	1,000	EA	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00
		EROSION CONTROL SUBTOTAL				\$2,150.00		\$4,200.00		\$3,850.00		\$5,170.00

(your trusted a consulta	PROJECT: NORTH MAIN STREET RECON: VILLAGE OF A CONTROL O	NORTH BALTIMORE PROJECT #: 190961		B & J Concrete & Construction		Buckeye Excavating & Construction		Vernon Nagel Inc.		ER Zeiler Excavating	
Item No.	Ref No.	Item	Est. Qtys.	Units of Measure	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost
		DRAINAGE										
21	605	4" SHALLOW PIPE UNDERDRAINS	797	FT	\$10.00	\$7,970.00	\$12.25	\$9,763.25	\$12.00	\$9,564.00	\$9.00	\$7,173.00
22	611	4" CONDUIT, TYPE B, FOR DRAINAGE CONNECTION, AS PER PLAN	50	FT	\$10.00	\$500.00	\$12.50	\$625.00	\$10.00	\$500.00	\$60.00	\$3,000.00
23	611	6° CONDUIT, TYPE B, FOR DRAINAGE CONNECTION, AS PER PLAN	100	FT	\$10.00	\$1,000.00	\$15.00	\$1,500.00	\$12.00	\$1,200.00	\$60.00	\$6,000.00
24	611	6" CONDUIT, TYPE B, 707.45 FOR SANITARY CONNECTION, AS PER PLAN	50	FT	\$10.00	\$500.00	\$21.00	\$1,050.00	\$35.00	\$1,750.00	\$65.00	\$3,250.00
25	611	4" CONDUIT, TYPE F, FOR UNDERDRAIN OUTLETS, AS PER PLAN	120	FT	\$12.00	\$1,440.00	\$16.00	\$1,920.00	\$20.00	\$2,400.00	\$60.00	\$7,200.00
26	611	8° CONDUIT, TYPE B, FOR DRAINAGE CONNECTION, AS PER PLAN	50	FT	\$11.00	\$550.00	\$21.50	\$1,075.00	\$32.00	\$1,600.00	\$60.00	\$3,000.00
27	611	12" CONDUIT, TYPE B, 707.45, AS PER PLAN	312	FT	\$65.00	\$20,280.00	\$77.00	\$24,024.00	\$82.00	\$25,584.00	\$65.00	\$20,280.00
28	611	12" CONDUIT, TYPE B,748.02, AS PER PLAN	97	FT	\$65.00	\$6,305.00	\$78.00	\$7,566.00	\$87.00	\$8,439.00	\$75.00	\$7,275.00
29	611	15" CONDUIT, TYPE B, 707.45, AS PER PLAN	273	FT	\$75.00	\$20,475.00	\$87.00	\$23,751.00	\$104.00	\$28,392.00	\$70.00	\$19,110.00
30	611	18" CONDUIT, TYPE B, 707.48, AS PER PLAN	33	FT	\$85.00	\$2,805.00	\$108.00	\$3,564.00	\$130.00	\$4,290.00	\$90.00	\$2,970.00
31	611	24" CONDUIT, TYPE B, 707.48, AS PER PLAN	30	FT	\$125.00	\$3,750.00	\$120.00	\$3,600.00	\$282.00	\$8,460.00	\$100.00	\$3,000.00
32	611	CATCH BASIN, NO. 3A	4	EA	\$2,500.00	\$10,000.00	\$2,000.00	\$8,000.00	\$2,800.00	\$11,200.00	\$3,000.00	\$12,000.00
33	611	CATCH BASIN, NO. 6	5	EA	\$2,250.00	\$11,250.00	\$1,900.00	\$9,500.00	\$3,000.00	\$15,000.00	\$2,000.00	\$10,000.00
34	611	MANHOLE, NO. 3 W/48" BASE ID	8	EA	\$3,000.00	\$24,000.00	\$4,500.00	\$36,000.00	\$4,000.00	\$32,000.00	\$3,500.00	\$28,000.00
35	611	MANHOLE ADJUSTED TO GRADE, AS PER PLAN	4	EA	\$1,000.00	\$4,000.00	\$500.00	\$2,000.00	\$800.00	\$3,200.00	\$1,000.00	\$4,000.00
		DRAINAGE SUBTOTA	L			\$114,825.00		\$133,938.25		\$153,579.00		\$136,258.00
		PAVEMENT										
36	253	PAVEMENT REPAIR	15	SY	\$165.00	\$2,475.00	\$227.00	\$3,405.00	\$40.00	\$600.00	\$300.00	\$4,500.00
37	301	ASPHALT CONCRETE BASE, PG64-22	322	CY	\$175.00	\$56,350.00	\$150.00	\$48,300.00	\$160.00	\$51,520.00	\$160.00	\$51,520.00
38	304	AGGREGATE BASE	564	CY	\$39.00	\$21,996.00	\$41.50	\$23,406.00	\$50.00	\$28,200.00	\$45.00	\$25,380.00
39	304	AGGREGATE BASE (UNDERCUTTING)	1,154	CY	\$39.00	\$45,006.00	\$36.00	\$41,544.00	\$40.00	\$46,160.00	\$45.00	\$51,930.00
40	407	NON-TRACKING TACK COAT	405	GAL	\$2.00	\$810.00	\$4.00	\$1,620.00	\$3.50	\$1,417.50	\$2.00	\$810.00

\subset	your musted advisor consult and its engineers architects planners BID DATE & TIME: APRIL 24, 2			NORTH BALTIMORE PROJECT #: 190961		B & J Concrete & Construction		Buckeye Excavating & Construction		Vernon Nagel Inc.		er Excavating
Item No.	Ref No.	Item	Est. Qtys.	Units of Measure	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost
41	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448), PG64-22, AS PER PLAN	141	CY	\$220.00	\$31,020.00	\$211.00	\$29,751.00	\$179.00	\$25,239.00	\$210.00	\$29,610.00
42	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448)	165	CY	\$185.00	\$30,525.00	\$177.00	\$29,205.00	\$164.00	\$27,060.00	\$180.00	\$29,700.00
43	452	8" NON-REINFORCED CONCRETE PAVEMENT, CLASS QC MS, DRIVES	148	SY	\$55.00	\$8,140.00	\$80.00	\$11,840.00	\$80.00	\$11,840.00	\$56.00	\$8,288.00
44	452	9" NON-REINFORCED CONCRETE PAVEMENT, CLASS QC MS, DRIVES	62	SY	\$65.00	\$4,030.00	\$87.00	\$5,394.00	\$90.00	\$5,580.00	\$62.50	\$3,875.00
45	609	COMBINATION CURB AND GUTTER, TYPE 2, AS PER PLAN	1,001	FT	\$18.00	\$18,018.00	\$32.00	\$32,032.00	\$22.00	\$22,022.00	\$21.50	\$21,521.50
46	609	CURB, TYPE 6	23	FT	\$25.00	\$575.00	\$28.50	\$655.50	\$29.00	\$667.00	\$25.00	\$575.00
		PAVEMENT SUBTOTAL				\$218,945.00		\$227,152.50		\$220,305.50		\$227,709.50
		WATERWORK										
47	638	3/4" COPPER WATER SERVICE	50	FT	\$10.00	\$500.00	\$25.00	\$1,250.00	\$42.00	\$2,100.00	\$85.00	\$4,250.00
48	638	FIRE HYDRANT REMOVED AND RESET	1	EA	\$2,000.00	\$2,000.00	\$1,400.00	\$1,400.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00
49	638	VALVE BOX ADJUSTED TO GRADE	6	EA	\$500.00	\$3,000.00	\$350.00	\$2,100.00	\$125.00	\$750.00	\$500.00	\$3,000.00
50	638	VALVE BOX ADJUSTED TO GRADE, AS PER PLAN	1	EA	\$2,000.00	\$2,000.00	\$350.00	\$350.00	\$125.00	\$125.00	\$500.00	\$500.00
51	638	WATER WORK, MISC.: METER PIT ADJUSTED TO GRADE	10	EA	\$250.00	\$2,500.00	\$425.00	\$4,250.00	\$125.00	\$1,250.00	\$350.00	\$3,500.00
		WATERWORK SUBTOTAL	1			\$10,000.00		\$9,350.00		\$7,225.00		\$14,750.00
		LIGHTING										
52	625	LIGHT POLE FOUNDATION, 24" X 8" DEEP, AS PER PLAN	7	EA	\$1,200.00	\$8,400.00	\$1,300.00	\$9,100.00	\$1,200.00	\$8,400.00	\$1,300.00	\$9,100.00
53	625	CONDUIT, 2", 725.04	818	FT	\$9.50	\$7,771.00	\$10.50	\$8,589.00	\$12.00	\$9,816.00	\$14.00	\$11,452.00
54	625	TRENCH	818	FT	\$10.00	\$8,180.00	\$10.50	\$8,589.00	\$7.50	\$6,135.00	\$8.75	\$7,157.50
55	625	PULL BOX, MISC.: CONNECT TO EXISTING PULL BOX	2	EA	\$150.00	\$300.00	\$165.00	\$330.00	\$500.00	\$1,000.00	\$590.00	\$1,180.00
56	625	ERECTING LIGHT POLE (INSTALLATION ONLY), AS PER PLAN	7	EA	\$500.00	\$3,500.00	\$540.00	\$3,780.00	\$725.00	\$5,075.00	\$850.00	\$5,950.00
57	625	LUMINAIRE, INSTALLATION ONLY, AS PER PLAN	7	EA	\$400.00	\$2,800.00	\$435.00	\$3,045.00	\$150.00	\$1,050.00	\$185.00	\$1,295.00
58	625	POWER SERVICE CONNECTION	1	LS	\$600.00	\$600.00	\$650.00	\$650.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00

\subset	your stusted advisor engineers consultants architects plannings		REET RECONSTRUCTION, PHASE 2 VILLAGE OF NORTH BALTIMORE PROJECT #: 190961 & TIME: APRIL 24, 2020 AT 4:00 PM				Buckeye Excavating & Construction		Vernon Nagel Inc.		ER Zeiler Excavating	
Item No.	Ref No.	Item	Est. Qtys.	Units of Measure	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost
59	625	CONNECTION, FUSED PULL APART	7	EA	\$90.00	\$630.00	\$97.00	\$679.00	\$136.00	\$952.00	\$160.00	\$1,120.00
60	625	CONNECTION, UNFUSED PULL APART	7	EA	\$95.00	\$665.00	\$103.00	\$721.00	\$130.00	\$910.00	\$150.00	\$1,050.00
61	625	CONNECTION, UNFUSED PERMANENT	7	EA	\$80.00	\$560.00	\$87.00	\$609.00	\$130.00	\$910.00	\$150.00	\$1,050.00
62	625	NO. 6 AWG 600 VOLT DISTRIBUTION CABLE	3,000	FT	\$2.50	\$7,500.00	\$3.00	\$9,000.00	\$4.25	\$12,750.00	\$5.00	\$15,000.00
63	625	NO. 12 AWG POLE AND BRACKET CABLE	840	FT	\$1.70	\$1,428.00	\$2.00	\$1,680.00	\$2.50	\$2,100.00	\$3.00	\$2,520.00
64	625	GROUND ROD	7	EA	\$130.00	\$910.00	\$150.00	\$1,050.00	\$200.00	\$1,400.00	\$230.00	\$1,610.00
		LIGHTING SUBTOTAL				\$43,244.00		\$47,822.00		\$51,498.00		\$59,684.50
		TRAFFIC CONTROL										
65	630	GROUND MOUNTED SUPPORT, NO. 3 POST	65	FT	\$15.00	\$975.00	\$20.00	\$1,300.00	\$18.00	\$1,170.00	\$25.00	\$1,625.00
66	630	STREET NAME SIGN SUPPORT, NO. 3 POST	2	FT	\$85.00	\$170.00	\$20.00	\$40.00	\$18.00	\$36.00	\$25.00	\$50.00
67	630	SIGN SUPPORT ASSEMBLY, POLE MOUNTED	3	EA	\$200.00	\$600.00	\$108.00	\$324.00	\$100.00	\$300.00	\$150.00	\$450.00
68	630	SIGN, FLAT SHEET	37	SF	\$10.00	\$370.00	\$39.00	\$1,443.00	\$36.00	\$1,332.00	\$38.00	\$1,406.00
69	630	SIGN, DOUBLE FACED, STREET NAME	4	EA	\$500.00	\$2,000.00	\$162.00	\$648.00	\$150.00	\$600.00	\$158.00	\$632.00
70	630	SIGN POST REFLECTOR	3	EA	\$85.00	\$255.00	\$54.00	\$162.00	\$50.00	\$150.00	\$50.00	\$150.00
71	630	REMOVAL OF GROUND MOUNTED SIGN AND DISPOSAL	12	EA	\$10.00	\$120.00	\$30.00	\$360.00	\$25.00	\$300.00	\$25.00	\$300.00
72	630	REMOVAL OF GROUND MOUNTED POST SUPPORT AND DISPOSAL	6	EA	\$10.00	\$60.00	\$30.00	\$180.00	\$25.00	\$150.00	\$25.00	\$150.00
73	630	REMOVAL OF POLE MOUNTED SIGN AND DISPOSAL	1	EA	\$10.00	\$10.00	\$30.00	\$30.00	\$25.00	\$25.00	\$250.00	\$250.00
74	644	CENTER LINE	0.09	MI	\$12,000.00	\$1,080.00	\$21,600.00	\$1,944.00	\$20,000.00	\$1,800.00	\$20,000.00	\$1,800.00
<i>75</i>	644	STOP LINE	56	FT	\$10.00	\$560.00	\$9.00	\$504.00	\$8.00	\$448.00	\$11.00	\$616.00
76	644	CROSSWALK LINE	256	FT	\$8.00	\$2,048.00	\$6.50	\$1,664.00	\$6.00	\$1,536.00	\$11.00	\$2,816.00
77	644	TRANSVERSE LINE	600	FT	\$3.00	\$1,800.00	\$5.50	\$3,300.00	\$5.00	\$3,000.00	\$6.00	\$3,600.00
<i>78</i>	644	PARKING LOT STALL MARKING	810	FT	\$3.00	\$2,430.00	\$1.65	\$1,336.50	\$1.50	\$1,215.00	\$2.80	\$2,268.00
79	644	HANDICAP SYMBOL MARKING	2	EA	\$200.00	\$400.00	\$270.00	\$540.00	\$250.00	\$500.00	\$370.00	\$740.00
	•	TRAFFIC CONTROL SUBTOTAL	•		\$12,878.00	Ī	\$13,775.50		\$12,562.00		\$16,853.00	

your trusted adv		PROJECT: NORTH MAIN STREET RECONS VILLAGE OF architects planners BID DATE & TIME: APRIL	B & J Con	B & J Concrete & Construction		Buckeye Excavating & Construction		Vernon Nagel Inc.		er Excavating		
Item No.	Ref No.	Item	Est. Qtys.	Units of Measure	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost
		MAINTENANCE OF TRAFFIC										
80	410	TRAFFIC COMPACTED SURFACE, TYPE A OR B	25	CY	\$100.00	\$2,500.00	\$35.00	\$875.00	\$30.00	\$750.00	\$50.00	\$1,250.00
81	614	WORK ZONE EDGE LINE, CLASS I, 642 PAINT	0.80	MI	\$4,000.00	\$3,200.00	\$5,400.00	\$4,320.00	\$5,000.00	\$4,000.00	\$8,500.00	\$6,800.00
82	614	WORK ZONE CENTER LINE, CLASS I, 642 PAINT	0.20	MI	\$8,000.00	\$1,600.00	\$8,600.00	\$1,720.00	\$8,000.00	\$1,600.00	\$12,000.00	\$2,400.00
83	614	WORK ZONE STOP LINE, CLASS 1, 642 PAINT	44	FT	\$4.00	\$176.00	\$3.25	\$143.00	\$3.00	\$132.00	\$5.00	\$220.00
84	614	WORK ZONE CROSSWALK LINE, CLASS I, 42 PAINT	220	FT	\$1.00	\$220.00	\$1.10	\$242.00	\$1.00	\$220.00	\$8.00	\$1,760.00
85	616	WATER	1	MGAL	\$10.00	\$10.00	\$35.00	\$35.00	\$1.00	\$1.00	\$45.00	\$45.00
		MAINTENANCE OF TRAFFIC SUBTOTAL			1	\$7,706.00		\$7,335.00		\$6,703.00		\$12,475.00
		INCIDENTALS										
86	SPL	PRECONSTRUCTION VIDEO	1	LS	\$450.00	\$450.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
87	614	MAINTAINING TRAFFIC	1	LS	\$7,000.00	\$7,000.00	\$15,000.00	\$15,000.00	\$14,000.00	\$14,000.00	\$5,000.00	\$5,000.00
88	623	CONSTRUCTION LAYOUT STAKES AND SURVEYING	1	LS	\$4,070.00	\$4,070.00	\$7,000.00	\$7,000.00	\$7,700.00	\$7,700.00	\$4,500.00	\$4,500.00
89	624	MOBILIZATION	1	LS	\$10,000.00	\$10,000.00	\$15,500.00	\$15,500.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
		INCIDENTALS SUBTOTAL		l	L	\$21,520.00		\$38,700.00		\$33,200.00		\$30,500.00
		BASE BID TOTAL				\$551,997.90		\$628,103.05				

your trusted advisor—engineers architects planners		village of village of architects	rchitects PROJECT #: 190961				Buckeye Excavating & Construction		Vernon Nagel Inc.		ER Zeiler Excavating	
Item No.	Ref No.	ltem	Est. Qtys.	Units of Measure	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost
		ALTERNATE NO. 1: ADD DECORATIVE CONCRETE WALK BORDER										
1-1	608	4" CONCRETE WALK (DEDUCT)	-1,247	SF	\$4.50	(\$5,611.50)	\$6.00	(\$7,482.00)	\$5.50	(\$6,858.50)	\$4.50	(\$5,611.50)
1-2	608	WALKWAY, MISC.: 4" STAMPED AND COLORED CONCRETE (ADD)	1,247	SF	\$8.00	\$9,976.00	\$11.50	\$14,340.50	\$12.00	\$14,964.00	\$11.00	\$13,717.00
		I ALTERNATE NO. 1 TOTAL				\$4,364.50		\$6,858.50	\$8,105.50		\$8,105.50	
		ALTERNATE NO. 2: FIRE STATION - APPROACH APRON REMOVAL & REPLACEMENT	1	,	T							
2-1	202	PAVEMENT REMOVED, AS PER PLAN	112	SY	\$12.00	\$1,344.00	\$6.00	\$672.00	\$25.00	\$2,800.00	\$15.00	\$1,680.00
2-2	204	SUBGRADE COMPACTION	112	SY	\$0.50	\$56.00	\$2.00	\$224.00	\$5.00	\$560.00	\$3.00	\$336.00
2-3	304	AGGREGATE BASE	14	CY	\$45.00	\$630.00	\$80.90	\$1,132.60	\$75.00	\$1,050.00	\$85.00	\$1,190.00
2-4	452	9" NON-REINFORCED CONCRETE PAVEMENT, CLASS QC MS	112	SY	\$67.00	\$7,504.00	\$75.00	\$8,400.00	\$125.00	\$14,000.00	\$65.00	\$7,280.00
		ALTERNATE NO. 2 TOTAL			J	\$9,534.00		\$10,428.60		\$18,410.00		\$10,486.00
		ALTERNATE NO. 3: LIBRARY - WALK REMOVAL AND REPLACEMENT	1									
3-1	202	WALK REMOVED	400	SF	\$1.50	\$600.00	\$0.80	\$320.00	\$4.00	\$1,600.00	\$3.00	\$1,200.00
3-2	608	4" CONCRETE WALK	400	SF	\$4.50	\$1,800.00	\$6.00	\$2,400.00	\$5.50	\$2,200.00	\$4.50	\$1,800.00
3-3	659	SEEDING AND MULCHING	1	LS	\$250.00	\$250.00	\$250.00	\$250.00	\$500.00	\$500.00	\$500.00	\$500.00
	<u> </u>	ALTERNATE NO. 3 TOTAL	<u> </u>	<u> </u>	<u> </u>	\$2,650.00		\$2,970.00		\$4,300.00		\$3,500.00

your rusted advisor engineers architects planners		thiter or only on the second of the second o	PROJECT: NORTH MAIN STREET RECONSTRUCTION, PHASE 2 VILLAGE OF NORTH BALTIMORE PROJECT #: 190961 BID DATE & TIME: APRIL 24, 2020 AT 4:00 PM			B & J Concrete & Construction		Buckeye Excavating & Construction		Vernon Nagel Inc.		er Excavating
Item No.	Ref No.	Item	Est. Qtys.	Units of Measure	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost	Unit Cost	Total Unit Cost
ALTERNATE NO. 4: HISTORICAL CENTER - WALK REMOVAL & REPLACEMENT												
4-1	202	WALK REMOVED	52	SF	\$1.50	\$78.00	\$0.80	\$41.60	\$4.00	\$208.00	\$3.00	\$156.00
4-2	203	EXCAVATION	8	CY	\$20.00	\$160.00	\$26.00	\$208.00	\$75.00	\$600.00	\$50.00	\$400.00
4-3	608	4" CONCRETE WALK	52	SF	\$4.50	\$234.00	\$6.00	\$312.00	\$5.50	\$286.00	\$4.50	\$234.00
4-4	653	TOPSOIL FURNISHED AND PLACED	3	CY	\$45.00	\$135.00	\$50.00	\$150.00	\$100.00	\$300.00	\$65.00	\$195.00
4-5	659	SEEDING AND MULCHING	1	LS	\$200.00	\$200.00	\$325.00	\$325.00	\$500.00	\$500.00	\$500.00	\$500.00
4-6	SPL	RAILING REMOVED AND RE-INSTALLED	1	LS	\$250.00	\$250.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00
		I ALTERNATE NO. 4 TOTAL		l		\$1,057.00		\$1,536.60		\$3,394.00		\$3,985.00
		ALTERNATE NO. 5: COMMERCIAL BUILDING - WALK REMOVAL & REPLACEMENT		1								
5-1	202	WALK REMOVED	395	SF	\$1.50	\$592.50	\$0.80	\$316.00	\$4.00	\$1,580.00	\$2.00	\$790.00
5-2	608	4" CONCRETE WALK	395	SF	\$4.50	\$1,777.50	\$6.00	\$2,370.00	\$5.50	\$2,172.50	\$4.50	\$1,777.50
		I ALTERNATE NO. 5 TOTAL		\$2,370.00		\$2,686.00		\$3,752.50	\$2,567.50			